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Q 1. Consider the following statements regarding Moonlighting:

Q2.

Q3.

1) Under the Factories Act 1948, Dual employment is
prohibited.

2) It is the process of sharing trade secrets with rival
companies.

‘Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) 1 and 2 only

(d) Neither 1 nor 2

Consider the following statements regarding the Grameen

udyami project :

1) It aims to raise the democratic participation of the rural
people

2) Project is to be implemented in all states and union
territories of India.

3) This project is funded by the National skill development
corporation.

‘Which of the statements given above is/are incorrect?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1,2and 3

Consider the following statements regarding the Voice of the

global south summit:

1) Summit was hosted by India.

2) Purpose of the summit is to develop a common consensus
on the Climate change

3) Unity of Voice, Unity of Purpose is the theme of this year’s
summit

Which of the statements given above is/are correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

Q4.

Q5.

Q6.

) 1,2and3

Consider the following statements regarding the YOTTA
D1:

1) Itis India’s biggest data centre.

2) India consumes 20% of the world’s data.

3) Itislocated in Noida,Uttar Pradesh

‘Which of the statements given above is/are correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1,2and 3

Consider the following statements regarding the Right of

vote for undertrail:

1) No person shall vote at any election if he is confined in a
prison.

2) Denying the right to vote for undertrail may violate Article
14.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) 1 and 2 only

(d) Neither 1 nor 2

Consider the following statements regarding the Joshimath

Land Subsidence :

1) Joshimath is built on the debris of sand and stone.

2) Joshimath is located in the Zone 4 category of the Indias
seismic zone Map.

3) Itis home to one of the four monasteries established by Adi
Shankara.

Which of the statements given above is/are correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3
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AT & Hay # fAfaf@a Fual «= faar &=

1) RET IFfAFTH 1948 & d8d a8 AR Ufasted gl

2) g Ufdgg! Shuf~al & 9T STIR I§T] chl TTSI hed chl Uishar
gl

IR w g syt A @ i a1/a Ol 8/8?
(a) cheret 1 (b) et 2
(c) et 1 3R 2 (dyFat13RTE 2

I & Seiy 8 Afaf@d syl R foar &R serdt aRatsm:

1) SEhT ILT UTHIOT ANTH dhY Alchditeh WTfigRY &l se T &

2) RIS YRA & T+t 4 3R g afld w2 | «Arg et STt
gl

3) ag uRdisHr T e faers A grr fa oifta @1

IR T MY pyt H @ i 91/@ Tea &/8?

(a) aar 1 3R 2

(b) haw 2 3R 3

(c) haar 1 3R 3

(d)y1,23R3

1Y 3T & Telias asYy fie & 99y & fA=faf@d su=i w=

foremR =

1) R g 6 Astat YR gRT &1 715 ot

2) R T w1 It STarg gRad= W Y 3H FgHfd
ferRa s g

3) 3marst it YehdT, I Y TehdT 3T aY & AW TR &l
fowa g

IR u syt A @ i 91/a Ol 8/87

(a) aar 1 3R 2

(b) Fhaer 2 3R 3

(c) Faar 18R 3

(dy1,2aR3

YOTTA D1 & deiyr # fRafaf@a syt « faar &3
1) g YR I G4 FST ST Jex § |

2) R AT & 20% <1 Y @Ud Tl g

3) g FivsT, IW U & AT &

IR fu M pyl A @ i a1/d ggt &/8?

(a) haet 18R 2

(b) thaet 2 3R 3

(c) haer 1 3R 3

(d)1,28R3

3ieved & I aie & fder & ddu & FAafafaa syt w®

frarR s :

1) afk A afdy o & g & aF ag fmdt «ft gema & waeE T
ol

2) SiEfed o folg Aaa & SR T SRR AT IJ0G 14 Hl
JoeTe o GohdT &

IR T MU pyl A @ i a1/d ggt &/8?

(a) Shaet 1

(b) haet 2

(c) haet 1 3R 2

(dyssat1siRag2

Sitzfivs yfa fFse & dau & Frafaf@a sy R far .
1) Siifids 39 3R IR & A IR 47 &

2) STfHe YRA & ety &5 A & o 4 Ao F [T &
3) AT gRT MU IR ASI A A Th & |

IR U U myt A @ i O1/a Tgl &/8?

(a) Faet 1 3R 2

(b) Faer 2 3k 3

(c) haet 1 3R 3

(d)1,23R3
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Q7.

Q8.

Q9.

Q10

Qil.

QI12.

With reference to Military Exercises, Consider the following
pairs:

Exercise

1. Suryakiran
2. MitraShakti

Countries Involved
— India- Nepal
— India-Malayasia
3. UdarShakti - India-Seychelles
4. Lamitiye — India-Srilanka
How many pairs given above are correctly matched?
(a) Only one Pair
(b) Only two Pair
(c) Only three Pair
(d) All four Pair

Consider the following pairs of Statements with respect to the

Nobel Prize 2022:

1. Nobel Prize in Chemistry was given to Alain Aspect (France),
John F. Clauser (USA) and Anton Zeilinger (Austria).

2. Nobel Prize in Chemistry was awarded for the development
of click chemistry and bioorthogonal chemistry.

3. Nobel Prize in Physics was given to Carolyn R. Bertozzi
(USA), Morten Meldal (Denmark) and K. Barry Sharpless
(USA).

4. Nobel Prize in Physics was awarded for: experiments with
entangled photons, establishing the violation of Bell
inequalities and pioneering quantum information science.

How many pairs given above is/are correctly matched?

(a) Only one Pair

(b) Only two Pair

(c) Only three Pair

(d) All four Pair

Consider the following statements

Functionally literate district:

1) When a person had passed his secondary education then he
is considered as functionally literate.

2) Mandla is the first functionally literate district in India.

Which of the statements given above is/are correct?

()1 only

(b) 2 only

(c) 1 and 2 only

(d) Neither 1 nor 2

regarding the

Recently a new island formed which was also confirmed by
NASA and it has formed in the region where the highest
density of underwater volcanoes are found. In which of the
below regions the volcano is found??

(a) Indian Ocean

(b) Atlantic Ocean

(c) Arctic ocean

(d) South Pacific Ocean

Consider the following actions/processes:

1. Regenerative braking in Delhi Metro Rail Corporation
coaches

2. The wind-running water lifting pump from a well

3. Waves of the sea are used in generating electricity

4. Bullets and missiles used in warfare

Which of the above-given actions/processes can be the Kinetic

Energy applications?

(a) 1, 2 and 3 only

(b) 2, 3 and 4 only

(¢) 1, 3 and 4 only

d1,2,3and 4

Consider the following statements regarding Rare Earth

Metals:

1. India has around 6% of the world’s rare earth reserves but it
only produces 1% of global output.

2. The Mineral Security Partnership launched globally ensures
the supply of critical minerals for electric vehicles and
advanced batteries.

Q13.

3. Rare Earth Metals are a family of 15 elements in the periodic
table, which involve Lanthanides along with Yttrium and
Scandium.

Which of the statements given above is/are correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d1,2and 3

With reference to the role of the Governor while addressing

Assembly Session, consider the following statements:

1. Governor addresses the Legislative Assembly at the
commencement of the first session after each general election.

2. Legislative Council is addressed by the Speaker of the
Legislative Assembly at the commencement of the first
session of each year.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Q14. The question consists of two statements, namely, Assertion (A)

QI5.

Ql6.

and Reason (R).

Assertion (A) : Standalone 5G delivers faster and more reliable

telecommunication service than non-standalone 5G.

Reason (R) : In standalone 5G Network services are delivered

over a 4G infrastructure.

For selecting the correct answer, use the following code:

(a) Both Assertion (A) and Reason (R) are true and Reason (R)
is a correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true but Reason (R) is
not a correct explanation of Assertion (A).

(c) Assertion (A) is true and Reason (R) is false.

(d) Assertion (A) is false and Reason (R) is true.

With reference to National Curriculum Framework (NCF),

consider the following statements:

1. As per the National Education Policy, 2020, two NCFs, i.e.
National Curriculum Framework for School Education and
National Curriculum Framework for Teacher Education will
be developed.

2. The Ministry of Education and University Grants
Commission are working on a comprehensive strategy
regarding NCF.

3. National Curriculum Framework for Foundational Stage
(NCF-FS) is designed with the students as the primary focus.

‘Which of the statements given above is/are #not correct?

(a) 1 only

(b) 1 and 3 only

(c) 2 only

(d)1,2and 3

In the context of Biotransformation Technology, consider the

following statements:

1. It presents an innovative strategy for efficiently processing
plastics that evade refusing streams resulting in their
biodegradation.

2. The technology produces plastics that have a predetermined
lifespan.

‘Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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10.

11.

12.

=g g & T #, Amfafae gt R R fifsg:
3Ty # i dar

1. GIRRT - ¥R - AU

2. fofeRT - uRa - g

3. IERUfRT - YR - YA

4. AR - vRT - sicien

I ey 7Y fhawt g wgt gRfod 82
(a) ehael U

(b) Shaat at

(c) Thadt &=

(d) goft TR

A QRERR 2022 & d&y # Fafaf@a syt & s = fer

Co

1. TG faA &1 e YRR e TR (Thi9), ST T, aifoR
(guEy) ok Ve Shifehr (i) @ fear mm

2. Srateitim=er B & e & fag vem fovar mar |

3. WA 1 e REhR HAf SR, Feforeft (guay), A desad
(37mTeh) iR . S et (gueg) & fear

4. AAifdeh & el REAR & g FEmd foar ma an: fafder gg
Tl & TIY TR, EHEde & Iewgd i Wl S8R
Soft Faied g fagm & forg R

SR R g R w1 Tt AR 2/22

(a) et Geh

(b) Shaat gt

(c) Shaa d=

(d) oft TR

Fafde 9 @ gieR O & g9y 7 fAEfaf@a st w=

foramR =

1) o foreht aafary 7 sru-t Areafies frem S<hof o <ff gt & a9
3T foharcss =9 @ 91eR /1 ST 8

2) HEST YR <hl UglT ShilicHeh ©U 9 1eR S 21

IR Ry U puet A T i 91/3 9l &/8?

(a) dhae 1

(b) dhaet 2

(c) haet 1 3R 2

(dyssat1 sRRad2

&1 & 7 ek ¢ ZYa o1 fAmfor gam fowwehr mar 7 oft gfe & ot
3R ag 39 &3 d 941 g Sigi Ul & i SRt & e
o U Sirat g | A J 9 R & | saremydt urar s g 2?2
(a) fée wgr TR

(b) 3re<Aifeh AR

(c) 3MTehfeeh HETETR

(d) &f&or geriq FEETER

F=fafad frareit/ufsrarei «R AR &93:

1. Reeht At 3 waReM & sl & doiRfea dfd

2. U 9 g1 & I arell Tt IS aret 9

3. Tz &I A6 1 IuANT fSTelt 3= shet # fohaT ST 8
4. gg B ugad g arelt Mot ok farset

IR & 7S foramant/ufcharstt & § - wfast St st gt Teadt
&2

(a) haet 1,2 3R 3

(b) haet 2, 3 3R 4

(c) haet 1,3 3R 4

(d)1,2,33k4

o qaT @fe & d@ey A Feafof@a sl ) AR &
1. YR & U g & gels gt 9SR T T 6% 8 cifchd I8
afYer IaTET T haet 1% STE T 8l

13.

14.

15.

16.

2. fay TR R gE & 7E W gRen agert sdfRe aeHl ok
37d deRal & g Ayl @i & smgfd giRfga a=dt 81
3. g gt 1g Sfad aRoft # 15 d@l @1 Geh uRaR g, e

Afeay ofik Whisgw & ary dAdrgey enfae gl
IR U U Al | @ i 91/ 9l &/8?
(a) Shadt 1 iR 2 (b) FaeT 2 3R 3
(c) haet 1 3R 3 (d) 1,23k 3

= gy 97 ot Heifda wRa Ty wsaure f gffer & e

# f=faf@a syl @R AR fifsd:

1. S AT & I1G Ugel 95 o URH H Ay g1 ot daifdq axd
gl

2. Ry oRue = ude av & gy 99 & URY § {a™ 991 &
3Tl ZRT JSifT fohar A &1

IR Y U pyi A @ i a1/a g &/8?

(a) et 1

(b) Shaa 2

(c) 1 3R 2 gt

(dyar1aiRaE2

sl # €t Ry &, 1fNhy (A) 3R @RI (R)

HYA (A): LI 5 Sft ISht T iR s1fdres faryarfia REar dar k-

TSI hl g A 5 St UG e &

HRUT (R): W3l 5 Sft Aeadh dars & 4 St SMURYA a1 WR

faRa & s &1

g IR ol ITT A & oy, AEffRd ot & g &

(a) & (A) 3R BRUT (R) &1 I & 3R &wroT (R) g1aT (A) &1 It
TSRO B

(b) & (A) 3R &RUT (R) &1 T € aAfch Rt (R) e (A) i
gt TEiepRuT T8l B

(c) U (A) TA & 3R &RT (R) Teid B

(d) Y (A) 39T & 3R &R (R) 99 B

I ursTaat Fif FREr (NCF) & e d fAmfaf@a sy =

R fifsa:

1. g e Af, 2020 & SR, 3 TR, Srufa whelt e
& foy It reaTat i TR ok e e & fow Ty
greTadf it TR fAenfd &Y s

2. NCF @l cte fuer dairera iR fsgfaenmera srger st sames
Y R P FR R 8.

3. Hed RUT & forg e uresaaat st uv@Er (NCF-FS) @t s
! UTA By & U & JuR fobar mam g1

IWR T U syt F @ i 91/d ¥gr 0000 0070002

(a) et 1

(b) a1 3R 3

(c) Faet 2

(dy1,2eR3

StauReadaeart et«rs & dgof @ Fafafaa sy = fEr

Hife:

1. Ug WIeeh ol Fedyder SO1dd & & fag ga sifeea
O T ST & STt §IhR ehe dTelt YIS & FadT & forech
TR 3R TrfeSeE glar 1

2. dep-iteh U WReeh ol I aheclt & fSiFent Sfiadara g
iR gt g1

IR U U ol & @ i 91/ 9l &/8?

(a) Thaat 1

(b) Fhae 2

(c) 1 3R 2 gt

(dyat1aiRad2

Q17. Consider the following:
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QI8.

Q19.

Q20.

Q21.

1. Bursts of electromagnetic radiation

2. Thunderstorms

3. Coronal mass ejections

4. Solar energetic particles

Which of the above given are the space weather phenomena
causing flight delays?

(a) 2, 3 and 4 only

(b) 1, 2 and 3 only

(c) 1, 3 and 4 only

(d1,2,3and 4

With reference to Fugitive Economic Offenders Act, consider

the following statements:

1. An individual who has left India so as to avoid criminal
prosecution.

2. Being abroad, refuses to return to India to face criminal
prosecution.

3. Appeals against any international court regarding the
unfairness of the case.

Which of the above-given conditions are given under the Act in

the context of a ‘fugitive economic offender’?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

With reference to the shifting of the capital of Indonesia,

consider the following statements:

1. Jakarta has suffered from a range of urban problems from
overcrowding to pollution.

2. Jakarta stands on a swamp on the island of Sumatra and has
been slowly sinking.

3. Indonesia is relocating its capital from Jakarta to a planned
new city Nusantara on the island of Borneo.

Which of the statements given above is/are correct?

(a) 1 and 3 only

(b) 2 and 3 only

(c) 1 and 2 only

(d)1,2and 3

Consider the following statements with reference to the use of

waste materials in highway construction:

1. Phosphor-Gypsum is a byproduct of refinery industries which
can be used in highway construction.

2. National Highways Authority of India has used Phosphor
Gypsum for a decade in highway construction as it is durable,
sustainable and increases the life of Bitumen.

3. Reducing Carbon footprint can also be addressed by using Fly
ash and waste plastics in highway construction.

‘Which of the statements given above is/are not correct?

(a) 1 only

(b) 3 only

(c) 1 and 2 only

(d) 2 only

Consider the following statements about economic curves used

to measure the growth of the economy:

1. The Lorenz Curve depicts the distribution of income in an
economy, while the Gini Coefficient measures the degree of
income inequality.

2. According to the Laffer Curve, if tax rates increase over a
particular threshold, tax revenues may decline because higher
tax rates discourage individuals from working.

3. A. W. Phillips invented the Phillips curve as an economic
idea. It asserts that the link between inflation and
unemployment is steady and inverse.

4. The Engel curve illustrates how household income affects
expenditure on a certain good.

‘Which of the above statements is/are correct?

(a) 1 and 2 only

(b) 1, 2 and 4 only

(c) 2, 3 and 4 only

(d) All of the above

Q22.

With reference to the 15th Finance Commission of India,

which of the following statements is/are incorrect?

1. Under Article 213 of the Indian Constitution, the 15%
Finance Commission was constituted in November 2017
under the chairmanship of NK Singh. The scope of its
recommendations will span five years, from 2021-22 to 2025
26.

2. For the period 2021-26, it is recommended that the state
allocation of central taxes remain the same as in 2020-21, at
41%. This is below the 42% recommended by the 14™
Finance Commission for the period 2015-20.

3. For horizontal devolution, it proposes a weighting of 12.5%
for demographic performance, 45% for income distance, 15%
for population and area, 10% for forest and ecology, and 2.5%
for tax and fiscal efforts.

Select the correct answer using the code given below:

(a) 1 and 2 only

(b) 1 and 3 only

(c) 2 and 3 only

(d)1,2and 3

Q23. In the questions given below, there are two statements marked

Q24.

Q25.

as Assertion (A) and Reason (R). Select the correct answer

using the code given below:

Assertion (A): The Reserve Bank of India's (RBI) decision to

launch a Central Bank Digital Currency (CBDC) is aimed at

improving financial inclusion in the country.

Reason (R): CBDCs can provide a more efficient, cost-effective,

and secure means of payment and transfer of funds, especially for

those who are unbanked or underbanked.

(a) Both Assertion (A) and Reason (R) are true and Reason (R)
is a correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true but Reason (R) is
not a correct explanation of Assertion (A).

(c) Assertion (A) is true and Reason (R) is false.

(d) Assertion (A) is false and Reason (R) is true.

In the context of India, which of the following statements

about Genetically Modified(GM) crops is/are correct?

1. GM crops are derived from plants whose genes have been
artificially modified, typically through the insertion of genetic
material from another organism, in order to confer a new
trait, such as increased yield, tolerance to a herbicide,
resistance to disease or dehydration, or improved nutritional
value.

2. India has only approved the commercial cultivation of Bt
cotton.

3. Genetically modified organisms (GMOs) reduce the use of
pesticides and insecticides in agriculture, which could be
beneficial to the food supply.

Select the correct answer using the code given below:

(a) 1 and 2 only

(b) 1 and 3 only

(c) 2 and 3 only

(d1,2and 3

‘Which of the following statements is/are correct about plant

hormones that regulate all growth and development processes,

including cell division, expansion, flowering, seed formation,

dormancy, and death?

1. Auxins promote cell elongation and are involved in apical
dominance.

2. Gibberellins inhibit seed germination and promote flowering.

3. Abscisic acid (ABA) promotes stomatal opening and is
involved in fruit ripening.

Select the correct answer using the code given below:

(a) 1 and 2 only

(b) 1 and 3 only

(c) 2 and 3 only

(d)1,2and 3
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17.

18.

19.

20.

21.

e R AR

1. forga grachia fafdhzor ot faemle

2. WA

3. FRIA A SR

4. GR Sl o

IR & ¥ i Tt sidRer Hiaw i gead § S Is & 38 &1 R
e 82

(a) haw 2, 33k 4 (b) daer 1, 2 3R 3

(c) haet 1,331k 4 (d)1,2,33R4

e enfdfer sraReft erfaffas & deof & A=faflEa sy =

faramR fifer:

1. Uep Afe fSem STURIfY HereHT 9o § g9 & folg YR B
fam g1

2. fRer # g1 & A1d, STuRIfAeh qehaR T AT el & folg WRd
et ¥ FThR HeATI

3. AT HY SR & Geiy # fohelt oft siaigia srarerd & e
ardter|

SWied # § o It 2 ifafagm & aga ua ' snffer sroRrefY’

& G § & &2

(a) Fhaer 1 3R 2 (b) Fhaet 2 3R 3

(c) Shaer 1 3R 3 (d)1,2 33

$ERfrar i Terurh & iR & Heof # Pefaf@a wu=t

R faar fifs:

1. S i3S § e UGHUT deh chs 8 THATST T TTHAT hY
Al

2. STeRTd! QAT G1U TR Ueh Gelael U @l & SR ¥R-4R ga @1 8l

3. ST Sl ISTETT STt @ S g1 W ve oS au
TR THART & RAFTAR e 6T 8

IWR Ry 17 el # @ i 91/ et 8/8?

(a) daet 1 3R 3 (b) et 2 3R 3

(c) Faa 1 3R 2 (d) 1,2 3R 3

ot fAmtor & srufre ueryf & Iuain & def A fAafafaa

FYE R faaR &

1. wieR-oogm ReEad Sl & Ua Suldre & g Iua
Irorrt fAmtor & fasar ST gehdr B

2. IR TER TETT Wifdesor J et AT F e ek 9
hIThR-feT &1 IuAT fehar € aifes ag feprss, feahras & iR
fagae & Sfia= @t sgraT 81

3. JorEnt fAafor & gorrg Qar ofiR Sufre wifee a1 SuahT wvdh oft
IS Gefle et ohr foham ST Heha 81

SR faq Mg et d G ik a1/ Tl 76l 8/8?

(a) Thaet 1 (b) Fhaat 3

(c) Thaar 1 3R 2 (d) Fhaat 2

SrferawT & AT &t ATgR & forg SuhT fohg o9 aret snfefes

aehl & aR # A syal ) AR &R

1. ARSI oIeh Ueh a7 § 311y o AT ol 21idT €, Siafeh [t
TUTich T AFHATAT <hl Fift &t ATTar 1

2. TR Ieh & SR, A R Y &R e faty drm & a1fdes a1
St €, @ R Jora | Rmae 3 Taohdt § ifh S= R &R
caferrdl oY S A F gatcaTiad st &l

3. Aw firfereg 3t onfdfer R & w0 & fhforem T @
JfashR a1 a8 arar & & foh gerehifa ofk SRSt & &=
F ) AR ok fAoda g1

4. 9 T Rewardn § fh 68 e o T [fgd g R a3g &
TaTfad et &1

IR Ul & 9 -a1/8 Tgt &/8?
(a) 1 3R 2 thaer (b)dhaet 1,2 3R 4
(c) dhaat 2,3 3R 4 (d) IR & gft

22.

23.

24.

25.

URA & 159 faa sl & wgof &, Rafaf@a 9 9 &= /4

&Y T 8/8?

1. ¥R WAy & srgeoe 213 & Jgd G g i resar 7
qdsx 2017 # 15d O omalT o1 e fohar am 9ml s
ARl @ gTaRT 2021-22 © 2025-26 Tk Ui 9Te Al g

2. 2021-26 & 3afd & g, 7g ST i STt & o e At ot
ISy 3MTded 2020-21 & THM, 41% WR &1 @1 g 2015-20 ht
3afd & forg 144 fomy SmalT gRT SrRifsd 42% & & 81

3. &fa foaem & g, a8 S=iferdia ues = & v 12.5%, amg
0 & I 45%, ST $iR &3 & fTg 15%, a1 ik uiRfafadhr
& T 10% 3R &= 3fR fa<itar v & fw 2.5% o1 YR u=arfaa
AT

19 g 7Q e o1 T R @ IR AT

(a) 1 3R 2 Thaat

(b) Thaar 1 3R 3

(c) 2 3R 3 dhaw

(d)y1,23R3

9 Ry 7q usit F, Fu= (A) R &RoT (R) & =0 A RAFa &

&Y 81 i Ry g e @1 vt R T swR g

FHYF (A): R Rerd ek (RBI) & hdla der fefiest a1 (CBDC)

Al=a et o Aoy a1 & foftar gomde & guR & & S8a 9 81

&R (R): CBDC fagts w0 & 37 @i & ol ST 3R e g&aiaror

T Ueh 3ifeh PRI, ARTT T 3R FRfET A1e09 UaH o 9ohd 8

7t fSAT Sk a1 e deh gt &

(a) ®Y (A) 3R &RUT (R) EHT 9 & 3R RuT (R), &Y= (A) &t
gt A=A B

(b) SifFeRa (A) 3R BRI (R) &I T & wifehT BRUT (R) ey

(A) & T8 e el B

(c) YA (A) 9T & 3R &RuT (R) 7Teid B

(d) ¥ (A) SI8T & SR RUT (R) ¥4 81

R & GgH #, ngafde & & "2nfda (GM) wael & IR d

fFrafafEa 7 @ o @1/d Fu= wd /82

1. Sigd wEa 37 diel @ o gt € s siF & pfhm wu &
Genfera forar o 8, SR WR foneht o Sfia & s arft
& gffer & gread §, Ueh 73 fAAedT Ue™ &ea & forg, S 3ust
# gfg, et & gfa wgAefierdr, W a1 fAsieftesor & ufarty,
T SgaR UIvUT Al A5 |

2. &It U i AraETe St Ht A 8 |

3. IgafRe ®U & HMAd Sfia (GMO) iy & dleanerenl ek
hIeATMehT o IUTNT <Al A T &, ST @rer Tgfd o folg hradHe
BRESE]

I f&Q 71q e @1 TahT R et SR g

(a) 1 3R 2 Shaa

(b) haet 1 3R 3

(c) 2 3R 3 Thaat

(d)1,23R3

fFrafaf@a § @ o9 a1 &y gy gwla & ar & | 8/ st

AT e, R, gquos, sfter fRmton, oyt ek geg afga

gt gfg ok e ufsharsit &t Frifa wwar 82

1. SiifeRaT hifRAenT gfeg @l Fgrar & & iR afdem uya 7 mffa
gid 81

2. ForeRfea sfist & 3igRuT ot AehdT & 3R Gl ohl TgTaT T 8

3. AR Ui (ABA) U & ol &l dgTaT 3aT & 3R el & Uehat
# A g 8l

2 g 71T Ge o1 v AR Tl IR g
(@) 1 3R 2 dhaa (b) Shaet 1 3R 3
(c) 2 3R 3 haa (d)1,23R3
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Q26. Which of the following statements is/are correct regarding the

Q27.

Q28.

Q29.

Q30.

Q31.

evolution of human beings?

1. Human evolution is the evolutionary process that led to the
emergence of anatomically modern humans.

2. Swedish geneticist Svante Paabo has been awarded the 2022
Nobel Prize in Physiology for his research on the genomes of
extinct hominins and human evolution.

3. Ramapithecus is said to be the forefather of both humans and
apes.

Select the correct answer using the code given below:

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Which of the following statements about chemical weapons

is/are correct?

1. A chemical weapon is a hazardous substance that is used to
cause deliberate death or harm.

2. The Chemical Weapons Convention is a multinational
agreement that prohibits the use of chemical weapons and
requires their disposal without any time frame.

3. The convention becomes effective in April 1997.

Select the correct answer using the code given below:

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Consider the following statements:

1. Immunity refers to the body's ability to fight itself against
disease-causing germs.

2. The form of immunity known as innate immunity is absent in
all organisms from birth.

‘Which of the above statements is/are incorrect?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which of the following statements regarding Covid-19

vaccines is/are correct?

1. For the treatment of Covid-19 patients, India has recently
approved two vaccines, Corbevax and Covovax, and one pill,
Molnupiravir.

2. India’s COVAXIN is an mRNA type of vaccine.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

‘What are the chemicals commonly used in cloud seeding?
(a) Silver Iodide and Potassium Iodide

(b) Calcium Chloride and Sodium Chloride

(c) Carbon Dioxide and Methane

(d) Nitrogen and Oxygen

‘Which of the following statements is/are correct regarding the

Government of India Act of 1935?

1. It abolished dyarchy at the centre and introduced autonomy.

2. It provided for the adoption of dyarchy in the provinces.

3. It provided separate electorates for depressed classes and
labour.

4. Ttprovided for the establishment of the Reserve Bank of India.

Select the correct answer using the code given below :

(a) 1 and 2 only

(b) 1, 3 and 4 only

(c) 3 and 4 only

(d) 1, 2 and 4 only

Q32.

Q33.

Q34.

Q35.

‘Which among the following is included in the electoral college
of the President of India?

1. Elected Members of Lok Sabha

2. Nominated Members of Rajya Sabha.

3. Elected Members of the Legislative Assemblies of the States.
4. Elected Members of Rajya Sabha.

Select the correct answer using the code given below :

(a) 1 and 2 only

(b) 1, 3 and 4 only

(c) 2 and 3 only

(d) 1, 2 and 4 only

With reference to the Alderman according to the Delhi

Municipal Corporation Act of 1957, consider the following

statements:

1. They are the persons having specialized knowledge in some
areas.

2. They are nominated by the Chief Minister of Delhi.

3. They can cast votes in the elections for the Mayor.

Which of the Statements given above is/are correct?

(a) 1 only

(b) 2 and 3 only

(c) 3 only

(d)1,2and 3

Consider the following statements:

1. India gets a trade surplus in export and import.

2. Rise of interest rates in the USA.

3. Increasing money supply in the market.

‘Which of the above caused the appreciation of the rupee?
(a) 1 only

(b) 2 and 3 only

(c) 3 only

(d)1,2and 3

Consider the following statements regarding the Repo Rate:

1. RBI provides overnight liquidity to Banks against collateral at
Repo Rate.

2. Itis also called the Policy rate.

3. It is always lesser than the Reverse Repo rate.

Which of the Statements given above is/are correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Q36. There are two statements marked as Assertion (A) and Reason

Q37.

(R). Mark your answer as per the codes provided below:

Assertion (A) : Bond yields are significantly affected by monetary

policy.

Reason (R) : Interest rates have a large impact on all types of

financial securities.

(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of
A.

(c) A is true but R is false.

(d) A is false but R is true.

With reference to the Agriculture Accelerator Fund recently

announced in the Budget, consider the following statements:

1. It aims to encourage agri startups by young entrepreneurs.

2. It will be used in both urban and rural areas.

3. It will be used to bring modern technologies into the
agriculture sector.

Which of the Statements given above is/are correct?

(a) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1,2and 3
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26.

27.

28.

29.

30.

31.

799 & A & d@ey d FAafaf@a & @ 9 a1/ sy a8t

8/&?

1. A R Remard ufthar & S9d erRor aRikes =0 @
MYk HIT I I gl

2. wfif argafhifag Svante Paabo &t i gifafA= sk aAma
g & ST R orum iy & forw fhfSiaers & 2022 T«
REHR T TG fohar 7T 81

3. IHIMYeRd &t AHa 3R R &Il TGSt gl ST 81

12 3 7T e o1 T R Tl IR gF:

(a) 1 3R 2 thaat

(b) 2 3R 3 thaat

(c) Faar 1 3R 3

(d)y1,23R3

Iarafes gfAarl & ar § Rafaf@a § @ o= 91/8 su=

8/&?

1. T T9EafAe sOR U @A uerd g fSger Sumh
STgETeRR Hid AT ToheT Ugam o forg famar S &1

2. IR R SR Ua SgE SHEdT § S IeEe
TRl & Suaht wR ufadey omar € ok fomr foneft awg dar &
I e 6t smasgehdr g1

3. g 3fd 1997 & uwrdt g ST g

12 g 71T e o1 T R el R R

(a) 1 3R 2 thae

(b) 2 3R 3 thaadt

(c) Faar 1 3R 3

(d)1,23k3

ffafaa syl R AR &R

1. wiforem I daT A arer Herupsh & e hY RR I emdr i
Teffq aear g

2. gl UfaReN & ®U § ST ST aTelT Uikl ol U o= & gaff

Shat 7 srgufedd &
IWRITd HyHl A & i I1/9 Terd &/8?
(a) haet 1 (b) dhaet 2
(©) 1 3R 2 et (dyTat13iRaE2

Sifa=-19 fl & IR & F=faEa 7 @ w9 91/a Fy=9 I

8/8?

1. YR A BT 8§ hifds-19 AR & gorst & fg &1 Eehl, Diaaed
3R pIaiday 3R Tep &ar AeuxIeR ot A &1 & |

2. 9Rd %I COVAXIN Teh mRNA TR &Y da=fi= g1

I ReQ 7TY e 1 I R et SR g

(a) haet 1

(b) charet 2

(c) 18R 2 &t

(d)yssat1afiRag2

FSs HfET & MAdR R & g9 9 WA AT A 82
(a) R smaleEs ik uiefmy smiess

(b) HfRIHA FRES 3R iy FiREe

() e STE3ifaaTss ok Hide

(d) TSI SR SHferitor

1935 & WRd GRaR ifAfAay & day A A=afaf@a 7 @ <=

q1/Q Y= TE 8/8?

1. 39 % # Y A HY FATE R T ofk @A S e
&

2. ST Uidl § 29 ATE ol (U T UrgeTe R

Afienl & fQ srerT et ded uer fhar |

4. 39+ IRdIT Red S it v @1 uraer= frari

w

32.

33.

34.

35.

36.

37.

2 g 7T e o1 T R GEl IR AT
(a) FhaeT 1 3R 2 (b) aeT 1,3 3R 4
(c) Hhaw 3 3R 4 (d)FaaT 1,2 3R 4

f=afafaa & @ &9 91 YRa & agufa & Rafae dea d anfae
14

1. &t g & FRafRa gew

2. ST T & A IS |

3. Iogi & Ay gamsit & [RafRa gew|

4. Tsg g1 & FRaifRd g

2 g 7T e o1 T R GEl IR AT
(a) dhaeT 1 3R 2 (b) haaT 1,3 3R 4
(c) a2 3k 3 (d)FaeT 1,2 3R 4

1957 & Reeft 7R fFm sifafaas & oguR gl & d@e o
feafafaa sy = AR &=

1. Ao & § RAfe 9 W@ a1t e g &)

2. 5% Rieelt & gegwsh grr A fohar Sirar 1

3. IHAR & A9 A II 3T Fehd Bl

IR U U peAl | @ pi-a1/9 I8 /87

(a) Shaat 1 (b) Shaet 2 3R 3

(c) Shaa 3 (dy1,29R3

fAafafEa syt o faar &=

1. R4 ot Fafd ok smard & aamuR sifdty U giar 81
2. Tgad Iy sRen & &aret &3 A gfg |

3. ISIR | Hel 3Yfd ST

SR d 9 fehgeh RT3 i 3ifdgls g3?

(a) hae 1 (b) dhaet 2 3R 3

(c) haa 3 (dy1,29R3

|t e & oy J FAEfaf@a syl = R &3

1. YRT Reid §ar 3t &R R duifdfer & f&arw Sl @t TdiE
TRAT UG T 8|

2. & fa e oft wgr ST 81

3. ug g Rad ¥ e A & g 21

IR T MU syt F @ hiE-T1/3 Tet &/87
(a) haer 1 8k 2 (b) haet 2 3R 3
(c) haer 1 8k 3 (d) 1,233

3fAFHUT (A) 3R &RUT (R) & +u A RAFa &t vy §1 2 Ry
q el & IR AT IR &:

21T (A): ST IUST Hifgen ifd @ srht ganfaa gidl &1

HROT (R): =TT & o1 It TR & =it afaagfoat o a1 uvme
TS gl

(a) A 3R R g g & iR R, A &t Ogt aare 81

(b) A 3R R a1 T § @fha R, A &1 Tt Tt =181 81

(c) A 9T g AfhT R SIT 81

d) AT ¢ Afce RET 81

BT gt A arote # 9 i @res v & Heof | Fafaf@a su=t

R faar fifed:

1. SYHT o7 GaT JAMAAT GRT Y WIEST hl McHTlRd T 8|

2. YT IUANT *rgdt SR urHtor ST &=t F foram s

3. 3GHI IYTNT MYk deh-iichl t HpfN &5 F @ & forg fawan
ST

IR U Mg puel # @ -ar/@ ad) 2782

(a) Thaat 1

(b) Thaer 2 3R 3

(c) Thaer 1 3R 3

(d)y1,23R3
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Q38.

Q39.

Q40.

Q4l.

Q42.

Q43.

Which of the following statements is/are correct regarding

Shree Anna?

1. It is a nutritional programme primarily concentrated on
school children.

2. It aims to promote the inclusion of fruits in the diet.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements regarding the Purchasing

Managers' Index (PMI):

1. It aims to provide information about future business
conditions to the company.

2. Itis released on a quarterly basis.

‘Which of the Statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which among the following statements is/are correct

regarding the Balance of Payment?

1. Itis a statistical statement that includes transactions between
residents and non-residents.

2. It consists of transitions of goods and services.

3. It consists of two main parts - Revenue and current.

Select the correct answer using the code given below:

(a) 1and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Consider the following statements regarding Fundamental

Rights:

1. Rights that are against the state's action only are violated by
private individuals, there is no constitutional remedy but
ordinary legal remedies.

2. The scope of fundamental rights is limited by Articles 31A,
31B and 31C of the Constitution.

3. They are justiciable in nature.

‘Which of the above statements is/ are Correct?

(a) 1 and 2 Only

(b) 2 and 3 Only

(c) 1 and 3 Only

(d)1,2and 3

Consider the following statements?

1. Art 39A : Provide Free legal aid to the Poor.

2. Art 38 : Protect and Improve Environment.

3. Art 48A : Organize agriculture and animal husbandry on
modern and scientific lines.

How many pairs is/are correct?

(a) Only 1 Pair

(b) Only 2 Pair

(c) Only 3 Pair

(d) None of the above

Consider the following statements regarding the Vice

President of India:

1. The Electoral College of the Vice President of India does not
include members of the State Legislature.

2. If the Office of Vice President falls vacant by resignation,
removal, death or otherwise, then an election will be held
within six months.

3. No ground is mentioned in the constitution for his removal.

‘Which of the above statements is/ are Correct?

(a) 1 and 2 Only

(b) 2 and 3 Only

(c) 1 and 3 Only

(d) 1,2and 3

Q44. Consider the following statements regarding the ordinance-

Q45.

Q46.

Q47.

making power of the President:

1. The President can issue ordinances under Article 123 of the
Constitution.

2. The maximum life of an ordinance can be six months and six
weeks.

3. The power of ordinance-making is discretionary power.

‘Which of the above statements is/ are Correct?

(a) 1 and 2 Only

(b) 2 and 3 Only

(c) 1 and 3 Only

(d1,2and 3

Consider the following statements regarding the criteria of

national parties:

1. Party is called a national party If it secures 6 % of the valid
votes polled in any four or more states at a general election to
the Lok Sabha or to the legislative assembly.

2. Ifit wins four seats in the Lok Sabha for many states.

3. If it wins 2% of seats in the Lok Sabha at a general election.

Which of the above statements is/ are Correct?

(a) 1 Only

(b) 1 and 2 Only

(c) 2 and 3 Only

(d) 1,2and 3

Consider the following statements:

1. Notified area committees are forms of urban government to
provide basic facilities to the staff and workers living in the
colonies established near the plant.

2. Special purpose agencies undertake the designated activities
or specific functions belonging to the municipal corporations
or municipalities.

3. The members of the notified area committee are nominated
by the state government.

Which of the above statements is/ are Correct?

(a) 1 and 2 Only

(b) 2 and 3 Only

(c) 1 and 3 Only

(d)1,2and 3

Consider the following statements regarding Comptroller and

Auditor General:

1. CAG is a multi-member body appointed by the President of
India following a recommendation by the Prime Minister.

2. CAG can audit all receipts and expenditures from the
Consolidated Fund of India and of the states and union
territories.

3. The CAG can be removed only on an address from both
houses of parliament on the grounds of proven misbehaviour
or incapacity.

Which of the above statements is/ are Correct?

(a) 1 and 2 Only

(b) 2 and 3 Only

(c) 1 and 3 Only

(d1,2and 3

Q48. Consider the following statements regarding tribunals:

1. The administrative tribunals are established by both
parliament and the state legislature.

2. The Chairman of state administrative tribunals is appointed
by the president.

Which of the above statement/s is/ are Correct?

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) None of the above
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38.

39.

40.

41.

42.

43.

ft o & ey A FrefefRa A @ P s s adt g / &
1. T &Y Y Whet! gedl UR hicd TN HRIHA gl
2. SYHT I IAER H Thell et MAT A ht TotaT 1 &

12 g 7T e 1 gAT R HEt IWR gET:
(a) haeT 1 (b) et 2
(c) 1 8fR 2 &1 (d)yTat13iRag2

T Uy ik (PMI) & dey # Frefaf@a syt o« fer

H:

1. ST 3T HU @l vy A aeaRe [dyaaf F sR o
ST T AT 8

2. 33 Qg ey R S femar ST 81

IR U U Al F T -1/ ggt /87
(a) et 1 (b) et 2
(c) 1 3R 2 gt (d)ysar1aiRag2

WA Hga & day d fF=faf@a § @ a9 /@ wu= a8

8/e?

1. 98 G difeudha faazor ¢ forad Rarfat sik sifarfaat & s
RECERUIE O]

2. 39H gEgaf 3R daraii o1 gRad- e g1

3. S 3 I=F AIT §Id & - o 3R Il

2 g T e 1 g R GE IR AT
(a) aet 1 3k 2 (b) Shaet 2 3R 3
(c) et 1 3R 3 (d) 1,233

Hiferes rfdeRl & dey & AEfefad syl = fEmR &2

1. R S T5U 6 FRars & R&h § dhaa [Heft aafemt gri
U &

2. Hifci SfIRRT 1 araRn dfae & sigeoe 31A, 31B 3R 31C
ZrRT T gl

3. 3 Uepfd # =mfAd g1

I & § i 91/8 Y I8! 8/87

(a) 1 3R 2 et

(b) 2 3R 3 et

(c) 1 3R 3 et

(d)1,23fR3

afafea sy R R &2

1. g 39A : TR Sl U I Tl UG el

2. el 38: gafaRoT Y 2eT 3R GUR|

3. el 48A : FHY 3R gyuTe &l Y 3R A7 ik &
Zafedd &

fehert SiTg @t /87

(a) haet 1

(b) dhaet 2

(c) dhaa 3

(d) 53 @ i oft 7

WRd & IWRPUfa & ey & Rafaf@a sy = far &

1. YRd & SWIFUd & Farae dsa # o0 Furwsa & e
LA 8! gia 81

2. Ife IWIgUfd o1 ug AW, fAsehrad, 7 a1 37 HRoN 8 Red
&l 1T 8, 9t B8 HeA o iR gATa e Sme|

3. 3o FAeenraq & forg dfam & foredt smeR @ Iea T8t 81

IR & T I II/8 hyd el 8/87?

(a) 1 iR 2 Faer

(b) 2 iR 3 Faer

(c) 1 iR 3 hae

(d) 1,283

44,

45,

46.

47.

48.

TEafa fi srerder A afa & dey J Fafaf@a su=t w far

CTH

1. Tgafa A & Srgwde 123 & d8d ST SR e TohdT g

2. IR &1 MfAhad Siia B Al 3R ©8 I8 &1 &1 JehdT
=

3. I7eATRST I <hi Mfery fdenrei= arferT 81

SR & § bl I1/3 Y- T8l 8/8?

(a) 1 3R 2 haet

(b) 2 3R 3 Shaet

(c) 1 3R 3 Shat

(d) 1,23k 3

U &l & AFEs & Hey § AEfaf@a FuEl ) ar &R

1. U i Goh AP UIET el ST & Al a8 AlchasT a1 e 91
& 379 gATa § fhegl IR a1 Sifdes Isal | STt 7Y ae AT A 6%
T el B

2. 3R g8 fafa= Ioat & o eergar &Y IR @i Sfiadt &1

3. afe gg o AT | AR H 2% e Shiadt gl
I B @ i 91/ HyH gl 8/8?

(a) Fhae 1

(b) 1 3R 2 haet

(c) 2 3R 3 e

(d)1,28R3

fefafEa suet = AR &

1. sfagfRd &= afafaal wic & o @nfia siefal § @ ard
FHHAIRAT SR Al at ghard glaum g @A & fog s
WHR & T &I

2. faiy gt oSl TR Rl ar R uifererent © defia g
nfafafemt ar fafre St ol et &1

3. fgfEa & affa & Fexil &l T TR gRT AT fohar
NI

SWRIad § T i Iq1/Y YT gl 8/87?

(@) 1 3R 2 Shae

(b) 2 3R 3 Shad

(c) 1 3R 3 &had

(d)1,23R3

fAdsren we AgreteEn udiereh & dey # fAEfaf@a syat ur faar

CI8

1. CAG U& sg-ge&ita e g fSadh! fRgfert wra & agufa gri
T H3l &l BRI & a1 & St 81

2. CAG 9Rd i gRaq fAfEr o oot iR dhg fAa wean &y oft
i} 3R &R T SRaT-STRaT &R GehdT &1

3. SeMR IT WAl & MYR R CAG &t TOE & <l Il &
SITATIOT TR Bt ST ST TeheT &1

IWRIed A G i A1/ HI et 8/87

(a) 1 3R 2 hae

(b) 2 3R 3 Shaa

(c) 1 3R 3 Shaa

(d)1,23R3

Tl & oy & AEfafad syt = =R &3

1. A arEnfdeRer dOe ik Ioy frudsa gl gRr winfua
fehg s g1

2. 5Tyl rfAeRRuT & sremet dht AgfeT Irgufd gRT Y STt
gl

SWIed & § &l I1/3 Y- T8l 8/87?

(a) Shaet 1

(b) haet 2

(c) 1 3R 2 e+t

(d) 378 @ Y off Y
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Q49.

Q50.

Q51.

Q52.

Q53.

Q54.

Q55.

Consider the following statements:

1. The Council of Ministers consists of three categories of
ministers, namely, cabinet ministers, ministers of state, and
deputy ministers.

2. Article 74 and 75 of the constitution deals with the status of
the Council of Ministers.

‘Which of the above statement/s is/are Correct?

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) None of the above

Consider the following statements with regard to the

Estimates Committee:

1. It is called a ‘continuous economy committee’ since it
examines all the ministries and departments throughout the
year.

2. It examines the budget estimates only after they have been
voted on by the Parliament.

‘Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements regarding the Mountain

Ranges of the World :

1. Mt. Elbert is located in the Appalachian Mountain ranges.

2. The Alps mountains are the source of the rivers Danube and
Rhine.

‘Which of the above statement/s is/are Correct?

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) Neither 1 nor 2

‘Which of the following countries do not share a border with
the Black Sea?

(a) Turkey

(b) Bulgaria

(c) Moldova

(d) Russia

Consider the following statements regarding West Asia:
1. Iraq, Egypt and Jordan have coastal boundaries.

2. The Dead Sea is between Israel and Lebanon.

3. Hamas is an extremist group in Syria.

Which of the above statement(s) is/ are Incorrect?

(a) 1 and 2 Only

(b) 2 and 3 Only

(c) 1 and 3 Only

(d)1,2and 3

Which of the following statements are true about Ocean

Currents:

1. The warm currents originate near the equator and move
towards the poles.

2. The cold currents carry water from polar or higher latitudes
to tropical or lower latitudes.

3. Irminger Current is Warm Ocean Current and Humboldt
Current is a Cold Ocean Current.

Answer the Question using the code given below.

(a) 1 and 2 Only

(b) 2 and 3 Only

(c) 1 and 3 Only

(d)1,2and 3

Consider the following statements with respect to Local

Winds:

1. Local Winds blow only during a particular period of the day
or year in a small area.

Q56.

Q57.

Q58.

Q59.

Q60.

Q6l.

2. Mistral and foehn are cold and dry winds originating from
Alps Mountains.

Which of the above statement/s is/are Correct?

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) None of the above

Consider the following statements:

1. Sustainable development Goals (SDGs) were first explained
in the Brundtland report.

2. SDGs have to be achieved by 2030.

3. The sustainable development report
UNFCCC and NITT Aayog.

Which of the above statement(s) is/are correct :

(a) 1 and 2 Only

(b) 2 Only

(c) 2 and 3 Only

(d1,2and 3

is published by

Consider the following statements:

1. Every component of food chains forms a trophic level.

2. The interrelation between different food chains is known as a
food web.

Which of the above statement/s is/are Correct?

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) None of the above

Consider the following statements regarding Eco Sensitive

Zone:

1. Eco-sensitive zones are notified under the Wildlife Protection
Act, of 1972.

2. The purpose of the declaration of an Eco-sensitive Zone is to
prohibit all human activities in the zone.

Which of the above statement/s is/are Correct?

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) None of the above

‘Which of the following gasses is not Greenhouse Gas?
(a) Water Vapour

(b) Hydrogen

(c) Carbon dioxide

(d) Methane

Consider the following statements:

1. The central pollution control board was established by the Air
(Pollution and Control) Act, of 1981.

2. The Commission for Air Quality Management is established
for coordinated efforts of state governments to curb air
pollution and will lay down the parameters of air quality for
the country.

Which of the above statement/s is/are Correct?

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) None of the above

With reference to the atmospheric water system, consider the

following statements:

1. Most of the water is present in the stratosphere.

2. Atmospheric water consists of a significant part of the total
earth’s water.

3. Atmospheric water can be present in gaseous, liquid or solid
form.

Which of the Statements given above is/are correct?

(a) 1 only

(b) 2 and 3 only

(c) 3 only

(d)1,2and3

Cp o L

CALL: 0522-4623578
9911999187

www.maadhyamias.in
Lucknow Center - B-1/18, Sector-H, Puraniya Chauraha,
Near Mahalaxmi Sweets, Aliganj, Lucknow-06024 (U.P.)

Full-Length Test | 12



49.

50.

51.

52.

53.

54.

55.

fAafafRa sy = AR &

1. #fAuRug & d@fat f dF Aot g &, srufq Hfee 5=, T
Tt afi 3T =

2. dfeem @1 srgeee 74 $iR 75 #AhuRkeg @ fRf & Fdfta g1

IR & T & II/8 hud Tl 2/8?

(a) aet 1

(b) et 2

(c) 1 &R 2 &t

(d) 573 @ S off e

UTeehels 9fafa & day & fAafaf@d syt w far &

1. 39 'Oad Srdcgaer 9ffa gl Sirar g i ag IR a asft
HTera 3R AT Y ST et &

2. g 999G gRI AdGH fhy ST & I1 Y SSTe SIgATT chl STid ehdl
gl

IWR Ry 17 el F @ s g/d 9gl 878 ?

(a) Shaet 1

(b) et 2

(c) 1 3k 2 =t

(d)aat13iRA82

&P Y uda sjaead & sy § Prefafa suel w far #d:
1. HISE Ueaie SR Udd 4@ar § {4 &1

2. T Udd S R A AT I IgH A 81

IR & ¥ I 91/ had Tl 2/8?

(a) haet 1

(b) haet 2

(c) 1 &R 2 &t

(dyssar1eiRag2

fA=faf@a & @ @19 a1 291 e R & a1y S i T8

AT 87
(a) Thf (b) gemiar
() ATestar (d)y ==

affyw gfan & d@ey d Frafaf@a suEt ) ffer
1. ek, A SR TS 6 adig Tl &l

2. Td 9FR 3R 3R A & 9 g1

3. gam Hifar & go xadedt a9 81

S & § i 91/8 YA TTeid 8/a?

(a) 1 3R 2 et

(b) 2 3R 3 haa

(c) 1 3R 3 haa

(d)1,23fR3

AEETREY yRiel & IR #@ fafaf@a A d s @ sy aa §:

1. T URIG e 3@ & U ¥ [Aeherd ¢ SR gal 6l 3R J&dt 8|

2. &3 YR ydfig a1 3= rerier § Ierefesdia a1 et sretisn deh
gt & STl

3. AR 4T 7 AEETRIT 4RT & SR gHEiee URT $31 AR
YRT B

12 g 7T R 1 AT R U A S| &

(a) 1 3R 2 Faer

(b) 2 3fR 3 et

(c) 1 3R 3 haet

(d)y1,23R3

T gareff & dey § AEfaf@d syt R foamR =

1. W yas Ges B @ &7 7 e a1 af & fonedt fadty a7 7 &t
Terdt g1

2. e 3R ®i e udd & Reper arelt 38t 3R e garg
gl

Wt # @ i 91/ HY Tgl 8/8?

56.

57.

58.

59.

60.

61.

(a) et 1 (b) Faet 2
(c) 1 3R 2 &=t (d) 379 9 g oft 7t
fr=faf@a syt R R w1

1. gda g dsal (SDG) & oY Uget siceis Ruid & gosmar
T Y1l

2. SDG @t 2030 deh 8T8 ST 81

3. §dd fdem Raié UNFCCC 3k NITI Aayog gRT UehIRId &bt
STTft 81

SWRIad # @ &I 1/ U et &/8:

(a) 1 3R 2 haet (b) haet 2

(c) 2 3R 3 haet (d) 1,233

fafafad syt = AR &=

1. QeI Y& T Udeh °¢h Yeh Ut TR T ffor et 81

2. fafera @ siaenst & &g & ddy S @@ S & 9 87 S
STTaT B

SWRIad & § i 1/ HIT el &/87

(a) Thaet 1

(b) Thaat 2

(c) 1 3R 2 &t

(d) 3778 T opis oft &

giRfefaes ddeasfiar & & dey & Aefaiaq syl ) ffER

A

1. ggteRor & ufd Gaeasfier &= st a=astia TRemr srfafags, 1972
& dga rfagfaa forar mar 81

2. sh-OfAfdg SS9 Oiffd & & S2g Sie d aoft amdi
TRt et ufasfda s 2l

IWRIeT | @ i 91/8 U Tl 2/e?

(a) haet 1

(b) haet 2

(c) 1 3R 2 &t

(d) 378 @ S off 1t

fA=fafEa @ @ w9 @ 49 fiqgea g adi &2
(a) STeT arsq

(ONESEE]

() e STEITATES

(d) Hra=

Fafafaa syt w® R &

1. e uguur s SiE G wirTAr 1981 & arg (9eNuT ofR
=) erfafaas grRr 6 18 ot

2. IR UGHUT TR SIS T o folg I8 TRRT & gafad vardt &
fore ary Turas veieE ST Y weT Y 7 g sk ag Ay &
forg arg Tqurer & Audst st RuiRa s

ST d @ i 91/8 HY Tal 8/8?

(a) Fhae 1

(b) et 2

(c) 18R 23+t

(d) 571 & Y oft e

argHEe I STt yoteft & def # Frafaf@a sual « e &2
1. SATERIT STt THATT HEe | HINE 8l

2. IIGHSHT STeT H et & el STel hl Geh Ayl W gl 8
3. aIgHSA STt A1, 9 A1 319 w0 H HIS[G 81 Fehal 8

IR U M eyt F @ wiF-T1/8 get &/8?

(a) Thaat 1

(b) haet 2 3R 3

(c) a3

(dy1,23k3
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Q62.

Q63.

Q64.

Q65.

Q66.

Q67.

Q68.

As per the Koeppen classification of climate, which of the

following statements is/are correct?

1. It is based on the temperature, precipitation and seasonal
characteristics.

2. Tt divided world climatic regions into five different groups.

3. Tropical climate includes Cs, Cf and Cw.

Select the correct answer using the code given below:

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Consider the following relief features of the ocean floor:
1. Continental Shelf

2. Continental Rise

3. Continental Slope

4. Abyssal Plain

Which of the following is the correct order of the above features
as one moves from land to sea?

(a) 1-2-34

(b) 1-3-2-4

(c) 3-2-14

(d) 3-1-24

Consider the following statements regarding the lesser or
middle Himalayas:

1. These are located southwards of Siwalik.

2. The ranges here are highly dissected and uneven.

3. Pir Panjal and Dhauladhar are located in this range.

Which of the Statements given above is/are correct?

(a) 1 only

(b) 2 and 3 only

(c) 3 only

(d)1,2and 3

Which among the following statements is/are correct

regarding the Godavari River?

1. Itis the largest river system in peninsular India.

2. Itrises in the Western Ghats just north of Mahabaleshwar.

3. Manjra is the important right-bank tributary of river
Godavari.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

‘Which of the following statements is NOT correct regarding

the Monsoonal rainfall in India?

(a) Southwest monsoonal rainfall is seasonal in character.

(b) Monsoonal rainfall is largely orographic in its mode of
occurrence.

(c) Amount of rainfall increases with increasing distance from
the sea.

(d) Indian Monsoon rains are vital for the agrarian economy.

‘Which of the following statements is/are correct regarding the

alkali soils:

1. This soil is largely found in the Indo-Gangetic plains.

2. This soil is also known by different names such as kallar,
Thur, and rakar.

Select the correct answer using the code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

‘With reference to the operation Flood, which of the following
statements is/are correct ?

1. It was launched by the Amul cooperative.

2. It was implemented in four different phases.

Q69.

Q70.

Q71.

Q72.

Q73.

Q74.

Select the correct answer using the code given below :
(a) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2

‘Which of the following statements is/are correct regarding the

Nickel mineral?

1. Itis found free as well as in association with other minerals in
nature.

2. It is found primarily in Sukinda Valley in Odisha in oxide
form.

Select the correct answer using the code given below :

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

With reference to Rapeseed Mustard, consider the following

statements:

1. India is the third largest producer of Rapeseed-Mustard.

2. National Research Centre on Rapeseed-Mustard is located in
Rajasthan.

Which of the Statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements:

1. The universe is infinitely old and has always existed.

2. The asteroid belt is found between the Terrestrial and Jovian
planet boundaries.

3. The Oort Cloud forms the rings of Saturn.

Which of the statements given above is/are correct?

(a) 1 and 3 only

(b) 1 and 2 only

(c) 2 only

(d) 2 and 3 only

‘Which of the following can be considered as the direct sources
of information on the interior of the Earth?

1. Earthquakes

2. Volcanic Eruptions

3. Ocean drilling projects

4. Meteors

Select the correct answer using the code given below:
(a) 1, 2 and 3 only

(b) 1 and 4 only

(c) 2 and 3 only

(d)1,2,3and 4

Which of the following statements about seafloor spreading is

correct?

(a) The process of seafloor spreading occurs when continental
plates collide and form new mountains.

(b) The oldest rocks on the seafloor are found at the edge of the
ocean basins, where new oceanic crust is formed.

(c) The process of seafloor spreading has stopped completely and
no new oceanic crust is being formed.

(d) The process of seafloor spreading occurs only in certain parts
of the ocean, such as near the equator.

Consider the following statements about primary rocks and the

rock cycle:

1. Primary rocks are formed from the solidification of molten
magma, while sedimentary rocks are formed from the
accumulation and lithification of sediments.

2. The rock cycle describes the continuous transformation of
rocks from one type to another.

‘Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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62.

63.

64.

65.

66.

67.

68.

STerarg & o aifferor & sigaR , Afafeaa d @ & T«
FUT TE 8/8?

1. Ig IEH, auf iR HgH) RLtvarsit ur smenfa &1

2. 35 iy & Sararg &= ot uta fafer= gt # foanfSia fomam
3. IwkfeEHd Searg | Cs, Cf 3R Cw A &1

12 g 7T e 1 gAT R Het IR AT

(a) Thaer 1 3R 2

(b) dhaer 2 3R 3

(c) dhaer 1 3R 3

(d)y1,23fR3

MR da & f=faf@a Ss=ea Rdvdast ® =R

AT

1. Aggdia 2. qEE i IUR

3. HeIgidy a1 4. 31TTY YR oAl B
frafafEa & @ 9 a1 S glaerst &1 T8t o & 59 g STHH
Y Tz FY 37 AT 82

(a) 1-2-3-4

(b) 1-3-2-4

(c) 3-2-1-4

(d) 3-1-2-4

Y a1 7y fgarera & d@ay A fFefaf@d syl «= faar &2
1. 3 Ryaferen & gferor 6t ok [RAT 8|

2. ggi § Aot srafde foedfea ofik srawm = 21

3. OR Ueier iR eiemeR gt Sioft & R4 g

IWR Ry g el § § E-g1/3 et /87

(a) e 1

(b) dhaet 2 3R 3

(c) Shaa 3

(d)y1,23fR3

e 7€t & e J Rafaf@a § @ 9 a1/ sy a8 2/8?
1. I8 U YR &l 9a9 Fdl 74t goTet! g1

2. Ug HEEaeR & &l SR § Uit ue @ Rcherd! 81

3. HORT MeEdt e & &g fhR &t Agaquf T8 74t 8l

=2 g 77 e 1 g R et IR gET

(a) hae 1

(b) dhaet 2 3R 3

(c) dhaer 1 3R 3

(d)y1,23R3

R | AL auf & ey d Fafaf@d § @ & ar sy a8t
T8l 87

(a) &feror afgm AT auf Fiet uefa & gidt 81

(b) AL auf srot geaT & Ik § AT g8 dh uddia 8l

() T% ¥ Tt X & |1y auf <l AT FgdT Bl

(d) R A SR HfY sreferae & fog Agaguf 81

fAafaf@a 7 @ &9 978 syq ardta A & ar 9 g 2/g:
1. g8 A gema: ey & A § urg ST 81

2. hoer, PR 3R T S A Al @ it ST S 8 |

12 g 7T e o1 AT AR el IR AY

(a) Thae 1

(b) Shaat 2

(€)1 3R 2 gt

(dysat1 eiRag2

TR Te1e & eof &, A=afafaa d§ @ &9 9i/d a7 I
88

1. 39 A FISITIRRRT gRT = fohar T )

2. 3 TR NAT-37eNT TRON 7 A fawar ma o

69.

70.

71.

72.

73.

74.

2 g 7T e o1 T R GEl IR AT
(a) Fae 1 (b) Faet 2
(c) 1 3k 2 &=t (d)yFar13iRaTE2

fAerer @At & Ty & Rafaf@a A @ 9 91/8 s 9 8/87

1. g UPfd | Hord AT 319 WA oh A1 AT U 1 g1

2. g A wU g Igrn A Gfhar 91él # Siferrss & U H urdn Srar
2l

12 g 7T e o1 AT R el S| GFT
(a) et 1 (b) Faet 2
(c) 1 3R 2=t (d)yTat1 sfiRag2

el & e A fAafaf@a syt @R R fifad:

1. YRd JqS-TRE} &1 Fr =T a9 987 ITEh 2

2. dfRar-axat R AP Srwe dhg IereE # R 8l
IWR Ry 17 el F O w-a1/a ag) §/8?

(a) Shaat 1 (b) Thaat 2

(c) 1 ofR 2 g1 (dysat1efiRaE2

ffafad syt w® AR w3

1. siglis SrfH ¥U @ QR ¢ SR ghen i A @1 8|

2. &geus Ut wichy 3fi siifaae ag dmrelt & 9 urd St 81
3. &¢ A9 A & geg A1 B

IWR Ry 71T YAl B G @i 91/ et &/8?

(a) Faet 1 3R 3

(b) Thaat 1 3R 2

(c) haet 2

(d) Faet 2 3R 3

fFrafaf@a & @ fFR gt & sriale v & aR § IFER &
Tege] "id AT ST Jehdl 82

1. g

2. et fawhie

3. HENTR f3feit aRatse

4. It

2 g 71T Ge o1 v AR Tl IR g
(a) et 1,2 3R 3

(b) dhereT 1 3R 4

(c) haar 2 3R 3

(d)1,2,33R4

Tgad fawR & aR # F=fafea § @ a9 a1 sy 9g@i 82

(a) FHET a1 & TR <l UichaT a9 gid! & STd AgT&U 1 Wid gehvid! &
3R U gdal &1 Amfor =) &

(b) W& 9 TR T8 QR 9 AgRTRIY et & fohrt or urg
STt 8, STel 1S THE thec ! &1

(c) Tz a1 & et &t ufthar g awg @ T S & ok g
HAETRE thic gl 9 8l &1

(d) T9g I o theftd hl UfhaT chadl AEIITR & §© 9T & g gidT
8, S foh sgren T & U

A et 3R At T3k o IR A Fafaf@d syt R AR &

1. vgtAes Ig fUud g A1 & S & 9 8, STafch Sradal
T IAIE & YT IR WA & T &

2. AT Ieh gl & Toh UehR 9 GER UHR # AR uRad= &t quie
FAT gl

IR T U eyl A @ i a1/d ggt &/8?
(a) et 1 (b) Fae 2
(c) 1 3R 2 &1 (d)yFar1siRag2

LML JMARDHYAM 108

CALL: 0522-4623578
9911999187

www.maadhyamias.in
Lucknow Center - B-1/18, Sector-H, Puraniya Chauraha,
Near Mahalaxmi Sweets, Aliganj, Lucknow-06024 (U.P.)

Full-Length Test | 15



Q75.

Q76.

Q77.

Q78.

Q79.

Q80.

Which of the following statements about weathering and its

significance is/are correct?

1. Weathering is limited to the physical breakdown of rocks into
smaller fragments, while erosion is the movement of these
fragments by agents such as wind or water.

2. Weathering plays an important role in the formation of soil,
nutrient cycling and the shaping of landforms.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements about fluvial landforms:

1. Fluvial landforms are created by glacial erosion in
mountainous regions.

2. Meanders and oxbow lakes are examples of fluvial landforms
created by the lateral erosion of rivers.

3. Fluvial landforms are majorly visible in coastal areas where
rivers meet the ocean.

Which of the statements given above is/are not correct?

(a) 1 only

(b) 2 and 3 only

(c) 2 only

(d) 1 and 3 only

In the context of Glacial landforms, consider the following

statements:

1. The cirques quite often are found at the base of glacial valleys.

2. Horns form through headward erosion of the cirque walls.

3. Everest is a horn formed through headward erosion of
radiating cirques.

Which of the statements given above is/are correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

With respect to the atmosphere, consider the following

statements:

1. The proportion of the gases in the atmosphere is the same
throughout its composition.

2. Carbon dioxide is opaque to incoming solar radiation but
transparent to outgoing terrestrial radiation.

3. The volume of all the gases along with Carbon Dioxide has
been rising in the past few decades.

‘Which of the statements given above is/are not correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Consider the following factors:

1. Rotation of earth

2. The angle of inclination of the sun’s rays
3. Length of the day

4. Revolution of Earth

5. Transparency of the atmosphere

Which of the above-given factors affects the distribution of
Insolation on the Earth’s surface?

(a) 2, 3, 4 and 5 only

(b) 1, 3,4 and 5 only

(c) 1, 2, 3 and 5 only

@1,2,3,4and 5

‘Which of the following best describes an air mass?

(a) A region of the atmosphere with high pressure and low
humidity.

(b) A small body of air with highly variable temperature and
moisture content.

(c) A large body of air with relatively uniform temperature and
moisture content.

QSl.

Q82.

Q83.

Qs4.

(d) A region of the atmosphere with low pressure and high
humidity.

‘Which of the following statements is /are correct about Swami

Ramanujacharya?

1. Ramanujacharya is a Vedic philosopher and social reformer
who was born in Sriperumbudur, Tamil Nadu, in 1017.

2. In the Hindu tradition, Ramanuja's philosophical foundation
was qualified monism, known as Vishishtadvaita.

3. The Prime Minister unveiled the Statue of Equality, a
Ramanujacharya statue on the outskirts of Srinagar, Jammu
and Kashmir.

4. China's Aerospun Corporation constructed the statue of
equality from panchaloha, a combination of gold, silver,
copper, brass, and zinc, and transported it to India.

Select the correct answer using the code given below:

(a) 1 and 2 only

(b) 1, 2 and 4 only

(c) 2, 3 and 4 only

(d) All of the above

Which of the following statements is/are incorrect about the

Lachit Barphukan?

1. Lachit Barphukan led the Ahom army in the Battle of
Saraighat in 1771 against the British Army.

2. The battle of Saraighat took place on the river bank of Hugli
near Calcutta.

3. He is remembered as a hero in Assam for his bravery in
defending the kingdom of Ahom.

Select the correct answer using the code given below:

(a) 1 and 2 only

(b) 1 and 3 only

(c) 2 and 3 only

(d)1,2and 3

Which of the following statements is/are incorrect regarding

educational development in British India?

1. The Wood's Dispatch of 1854 recommended the creation of
a system of education based on Western principles, the
establishment of universities and the introduction of
vernacular languages as the medium of instruction.

2. Hunter Commission recommended the introduction of
vocational education in India to meet the demands of the
growing Indian economy.

3. The Indian Universities Act of 1904 is known for
reorganizing the universities in India. It established the office
of the Chancellor, Vice-Chancellor, and Registrar in the
universities and the University Grants Commission to
supervise the universities.

Select the correct answer using the code given below:

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Which of the following statements is/are correct regarding

social and religious reform movements in India?

1. The Brahmo Samaj aimed to purify Hinduism and reject
certain aspects of Hindu society, such as polygamy, and the
caste system.

2. The Satya Shodhak Samaj was founded by Jyotirao Phule in
1873 and aimed to eliminate caste discrimination and
promote education and women's rights.

3. Young Bengal movement promoted radical ideas through his
teaching and association for debate and discussion on
literature, philosophy, history and science.

Select the correct answer using the code given below:

(a) 1 and 2 only

(b) 1 and 3 only

(c) 2 and 3 only

(d)1,2and 3
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75.

76.

77.

78.

79.

80.

3Uer 3R IS g & aR & FA=fafad d @ &= 91/d wu=

wer e/é?

1. U IgHI & BIC-BIC ghsl A Hifde U § geat Ien WA 8,
STafeh 3TUREH gl a1 U1 S8 shRehl gRT 39 gehal ahl TTfd 8l

2. 3rugra gt & fAefor, ttves Tehor 3R - SMepfaat ot SR &3

Agaqut fHeRT fAvmar 81
12 g 7T e o T R el IR gF:
(a) Fhaat 1 (b) dhaet 2
(©) 1 3R 2 gt (dyTat1siRag2

T4 o-sngpfaal & ar # Fefaf@a FuEl ® AR R

1. uddia &= A A 3TUREH GRT TEIT o-3Thfcral et HAToT ghar
2l

2. faud ok MR el afeat & uref errem grr fAfifa ada o

STl o IaTeRT B

3. &7 g-ngfaal vgE ®u @ 37 adig &5t § Rard 4t § gt
Ffear @9g @ At 81

SR & 7Y et 7 @ ol 41/8 TE T 8/8?

(a) aet 1 (b) a2 3k 3

() Shaet 2 (d) dhaer 1 3R 3

el weTpfaat & T # Fafafle Fuat w AR fifsa:
1. feueic oifeat & STUR UR S1aR Ieh U I &1

2. g o fRaior g SRl & fiT eruReT @ giar 81

3. QA U 47 & St fachiof acht & <fif srores @ aar 81

IWR Ry 1y el # @ @i 91/ et 8/8?
(a) Hhaet 1 3R 2 (b) ShaeT 2 3R 3
(c) Shaet 1 3R 3 (d) 1,233

argsd & ey # Ffafea syt w® R fifsg:

1. argHsd # AGT 1 SUTd S9! G T § 99 81

2. HIE- SESHIIES 3 dlet AR fAfeheor & foiw smuResff & AfhT
TR ST aTe Weity fafeheor & fog uresf &1

3. fUBc 3® < A FEA SESHTUES & ary-ary 9 A4) &
ST G TT & |

SR g g ot F & i @/@ w7 8/87

(a) dhaet 1 3R 2 (b) eheret 2 3R 3

(c) dhaet 1 3R 3 (d)1,23R3

fAAfafad sre! iR faarR &1
1. gt et gHAT

2. g <t fRoT & R T HIoT
3. Radrdas

4, gt & uRepmn

5. dTdTeRT Sl gRefRidT

IR Y TG hReRT & @ SH 1 ek gt dhl T IR ATy o faaxor
ot gATfAd T &7

(a) haer 2,3, 43R5
(b)daat 1,3, 43R5

(c) dhaet 1,2,33R5
(d)1,2,3,43R5

FrafafEa 4 @ 19 a1 arg g™ o1 999 st qui FRar 8?

(a) 3=T AT SR A IHTET ATet ITATERUT hT Ueh & |

(b) srafder uRed-ta argar ik T Irrft & 1 gaT &1 U Bter
SRR

(c) SrdemTepd THM drad SR et Trft & A1 gaT 1 gah fasme
fAl

(d) =1 arer 3R I=a 31 arer agHvSe &

81.

82.

83.

84.

Fafafaa 7 @ o a1/@ wy= @l Igeme & ar § a8

8/é?

1. IASTER o i qeife Sk et gura € e s
1017 # sitRgqg, dafferrg # gam

2. fig Wz 8, IS o qieifes SR aiw srgdare ot 8
fAfregad T I T ST g |

3. gy At 3 $fR, SR SR iR & a1edt gt & GHEGT
i<, IHATFSTERE ekt Ul AT SrTaReT R

4. 99 & Aerospun Corporation 3 &1, 9idl, dfer, diaer iR
T & AGte, Udeltg ¥ GHEAT S gfamT s Aty e efk
9 YR UgamT|

13 g 7Q e @1 T R @ I AT

(a) 1 3R 2 et

(b)Fae 1,2 3R 4

(c) Faa 2, 3 3R 4

(d) R & Taft

dfRd Rgaa & ar |§ FEfafEa § @ a9 @1/9 3= 1o

8/é?

1. dfRd RGaa = 1771 F ffesr @1 & fams W & a2 4
STEIH BT 1 g fohaT |

2. TS Gl g el & [Hehe giTell A1 & e TR gaiT Tl

3. B ISY hl & h3A | IAH! TeIgd & [y I o & g
e & &9 # I fRaT ST g1

9 feg 7Q e 1 T R Gl TR AT

(a) 1 3R 2 haat

(b) Faet 1 3R 3

(c) 2 3R 3 thadt

(d)1,23R3

fafeer aRa A Aféyer e & day A fFafafaa & @ w9 ar/@

HYA T 8/8?

1. 1854 & ey fewda = ufgyHt Rgidl wr smefd fRiem yoredt &
fRmfur, fasyfaenermt S wmoeT ok fien & greoy & T § g
TS Rl (3T i RAThIRer &

2. X AN 7 Fgd! HRA SHefeawiT Sl AR St GU &ed & g
YR H eTegTiic A& Y& & HY R{wmRa &

3. 1904 o1 YRdE fayfemm afffog ara § Ryfeea &
gAied & fog ST ST g1 9 Rgfenerat # genfiufa,
Feufd SR Herdd o wATad hl WITAAT & R Asgfemeat
&Hr R & forg fasgfaeera srem sl &Y wmu=t &

#12 3g 71 e o1 v R Tl IR g

(a) 1 3R 2 dhaat

(b) 2 3R 3 dhaat

(c) Faet 1 3R 3

(d)1,23R3

HR # "o 3R anfifes urR srigia=t & ey & fRafafE@a

# @ 9 91/8 7 Td 2/8?

1. SIg] GO A kA g o Fl g e ok feg avet & 3o
ugga, S8 sgfdarg ofk Sifa sgaw @l SReftehR et Tl

2. I MYSF GATST hl WA 1873 F SHIfRTa ot gRT <l 78 ot
3R 39T Iey SNfaia Aewa ol @H &wer iR e ik
afgerai & SifRY el Ferar AT ATl

3. a1 e Siele 3 wifga, a2fF, sfagra ofk fogm R sgw ok
=gt & g erm fReror ofk 99 & Aremw @ agrueft ARt @t
Ferar feam

12 g 1Y e o1 T AR el IR A

(a) 1 3R 2 Thaat

(b) Thaat 1 3R 3

(c) 2 3R 3 Thadt

(d)y1,23R3
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Q85.

Q86.

Q87.

088.

Q89.

Consider the following statements:

1. The Prohibition of the Sati Act of 1829 made burning or
burial of widows alive a homicide punishable by fine and/or
imprisonment.

2. The Civil Marriage Act of 1872 permitted intercaste,
interreligious, and even "registered" marriages and classified
Hindu marriage as "civil."

3. According to the Indian Christian Marriage Act of 1872,
marriage is legitimate if at least one of the parties is Christian.

Which of the above statements is/are correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d1,2and 3

Consider the following statements regarding Cripps Mission:

1. Congress welcomed the offer of Dominican status by the
Cripps Mission.

2. The Muslim League opposed the concept of a single Indian
Union, offered by the Cripps Mission.

Which of the above statements is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

‘Which of the following statements is/are correct about the

moderate faction of the Indian National Congress?

1. Extremists were inspired by the ideas of Western
philosophers like Mill, Burke, Spencer and Bentham.

2. Moderates wanted to inculcate pride in India’s glorious
culture to generate the spirit of nationalism.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements about revolutionary

movements in India during British colonial rule:

1. The Ghadar Party was a political revolutionary organization
founded in the United Kingdom by migrated Indians.

2. The 1915 Singapore Mutiny, also known as the 1915 Sepoy
Mutiny or the Mutiny of the 5th Light Infantry, was a mutiny
against the British in Singapore by up to half of a regiment of
850 Indian Sikhs sepoys during World War II.

‘Which of the above statements is/are incorrect?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

‘Which of the following statements is/are incorrect about the

Poona Pact in the year 1932?

1. The background to the Poona Pact was the Government of
India Act,1919 which provided a separate electorate for
depressed classes.

2. The pact signifies a solution derived by amalgamating two
different ideologies striving to achieve a common goal for the
upliftment of one of the most vulnerable sections of the Indian
society.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Q90. Which of the following can be considered the immediate cause

for launching the Quit India Movement?
(a) Failure of Cripps Mission

(b) Prevalence of Anti-British Sentiments
(c) Centralisation of local small movements

Q91.

Q92.

(d) Shortage of Essential Commodities

With reference to Indus Valley sites, Consider the following
pairs:
Site Important finding
1. Mohenjodaro — Great Bath
2. Lothal — Rice Husk
3. Kalibangan - Water Harvesting System

4. Dholavira - Camel Bones

How many pairs given above is/ are correctly matched?
(a) Only one Pair

(b) Only two Pair

(c) Only three Pair

(d) All four Pair

Consider the following statements with respect to Sufism:

1. Sufism originated in Turkey and found a congenial
atmosphere in India under Turkish rule

2. Sufi silsilas were divided into two categories, Bashara who
did not believe in Sharia and Be-Shara who followed Islamic
tenants.

3. Sufism is a revivalist movement which tried to purify Islam
by eliminating all un-Islamic practices

Which of the statements given above is/are incorrect?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1,2 and 3 only

(d) None

Q93. Arrange the following in the correct Chronological order

Q94.

1. Battle of Tallikota
2. Battle of Khanwa
3. Battle of Chausa

Code:
(a) 1-2-3
(b) 2-1-3
(c) 3-1-2
(d) 2-3-1
With reference to Mahajanapadas Consider the following
pairs:
Site Capital City
1. Avanti — Mahismati
2. Assaka — Potali
3. Shurasena — Mathura

How many pairs given above are correctly matched?
(a) Only one Pair

(b) Only two Pair

(c) Only three Pair

(d) None

Q95. Consider the following statements with respect to Buddhism:

Q9.

1. Buddhism condemned the caste system and was built on the
belief that all men are created equal.

2. Buddhism split into Theravada and Mahayana in the famous
2nd Buddhist Council.

‘Which of the statements given above is correct?

(a) 1 only (b) 2 only

(c)land 2 (d) None

Consider the following statements regarding the Delhi

sultanate architecture:

1) Qutub Minar was built by Allauddin Khalji

2) Red sandstone was extensively used in the construction of
this architecture.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) 1 and 2 only

(d) None
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85.

86.

87.

88.

89.

920.

fefafaa sy ® AR &=

1. 1829 & gt rfafgy & vy 3 Rrearsit ot fSier e a1 gtham
& A R /a1 REN & deg AT gy g9

2. 1872 & AWR faarg srfaffas 3 siawiidia , siquffife ofik gt
& &0 # giffepd fomami

3. 1872 & WRdg $418 Rarg sifafaaw & ergarR, afe wiféat 4 &
T Y Y Teh 3918 ¢ al faarg du g

S Yl & 9 hF-T1/3 Tt &/8?

(a) 1 3R 2 thaat

(b) 2 3R 3 thaat

(c) Faar 1 3R 3

(d)y1,23R3

foreg e & dey & fAafaf@d syl R R &

1. &g 3 foheg A gRT ST o<t 6 derensr o1 @ fora

2. gfem o 7 fohr @em gRT gwarfed Geea uRdR d@9 &
IR a1 fa=ter feham|

S Yl A 9 hF-T1/3 Tt &/8?

(a) Shaet 1

(b) dharet 2

(c) 18R 2 &t

(d)yaat1siRag2

WRATT TG HidH & SeRadl e & ar d AEfafR@a d @ =

q1/@ Fy g1 8/8?

1. TAUt e, 9, TER SR sy S8 uffHt el & oot &
oRa

2. AU AFAG H AT 9aT IR & g 9RT F ARG
TEpld OR 776 AT d1Ea U
12 3 7T e 1 A IR Fal IR A

(a) hae 1 (b) haet 2

(c) 18R 2t (d)Tar13RAF2

fafeer eitufAafAe ama= & &RM uRa & shifawr sigie &

TR # Aefafad syl ) R .

1. TR Urél garet WRd™ grR1 garses e A wiftd g
IoTIfeh shifdeprel Tira o |

2. 1915 o R fagkg, @ 1915 & R fagke a1 54 amge
gthel & fagle & U A oft S 71 8, gt fay gg & SR
850 WRdg &g Ryonfeat fr smeft e grr RimgR & sifsi &
Qe fargts am

ST Yl & G hiF 91/3 7TeAd &/87?

(a) haet 1

(b) et 2

(c) 1 3R 2 @At

(dysar1aRTE2

af 1932 § gu g1 auHld & ar | fafaf@a & @ &= ar/@

HYF A g/8?

1. gAT dere Y g8 WRd TR AfAfam, 1919 off, [Sa= afaa
It & forq Ten orerT Rataes ded ue o

2. GHSAT & SfelT-3relT feaRyRISH @t A T SHTe @
Uciieh & YRITT GATST & a8 thASTR a7 & & Teh oh I & folg
ek GTHTRT 1Y Tl UTe ohi T TRITH T

=2 g 7T e o T R el IR gF:

(a) dhaet 1

(b) et 2

(c) 1 3R 2 @t

(dysat1aiRaE2

Fafafea 9 9 R vra sist siigle I F=A &1 arenifas
SRIROT HIAT SIT JeheT &7
(a) foreg fAsm & faretar

91.

92.

93.

94.

95.

96.

(b) farfesr faRieft et @1 gaR
(c) ST BT 3MiEel et hetenor
(d) Srrasaes a¥gait Y FHt

Ry o1&t et & deof F, Frafafe@a gl R R

= Agayqul @St
1. Higaeiest - faemer TR
2. @ - FTaet ht o
3. FIAET= - STt g YOt
4. ey - Fe 6 gfgat
SR Ry 7 fohe g wet gaferd §/8?

gharg & ey # fAafafEa s R far &
1. ghlare dY Iafd gl A g8 oft SiR gehf 2ame & dgd YRa d 58
CIGICRUSECI)

2. gh i a St & fanfSia o, gmr it aRar a6t 98t ara
2% 3R - IR S ST foRme Ry ot uTe T ohed 91

3. A Ueh GHIHaTd et g fores @+t iR-g&emfaes marai
T AT Tech STATH i R[5 e ol T foRa|

IR T U pui A T i 91/ Teld &/87?

(a) haet 1 3R 2 (b) thaet 2 3R 3

(c) &aet 1,2 3R 3 (d) ahis T

2. IWH
3. A - T

SR U Y feha g gl gaferd 872

(a) hael U (b) hae &t
(c) heret <l (d) S T

g o & day # Fefaf@a Fuaf = AR &

1. &g a3 sfa cgawn i Her H ok 59 fryrg w =mar mar ot
foh it gl ol I\ ST AT 8|

2. ufg fedta dig Tiifa & s of SRare ik wem= 7 Rwfea
gt

IR U U ol & @ 9 a1 g8l 87

(a) et 1

(b) Thaa 2

(€)13R2

(CEIEE

Reeht Tea1a argeren & Hay # FAafaf@a syl o far

CI8

1) IR &1 AT SSEH Raerstt 3 eharar o

2) 39 UG o A0 H ATl I3 IR I I3 TAH TR IugT
foram T am

IR U U ol & @ iF 91/ 9l &/8?

(a) Thaat 1

(b) Faa 2

(c) Thaa 18R 2

(CIEIEEE]
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Q97. Consider the following statements regarding the 1857 revolt: 97. 1857 & faclg o ddy # fAfafad syl uR R &=

1) First Afghap wars had influenced the revolt. 1) Uge AHTH gl 7 faglg &t i famam am
2) Lord Canning was the Governor General when the revolt 2) =@ RgE gon g TS ST TR STt 9
took place. 3 3 &
3) General Bhakt Khan was the leader of the revolt in 3) AT :;;' 'Ei ) SR & @T'r
Lucknow IR &g 7g eyl # F i 91/8 ol 8/8?
‘Which of the statements given above is/are correct? (a) Thaer 1 3R 2
(2) 1 and 2 only (b) e 2 3 3
(b) 2 and 3 only (c) et 1 3R 3
(c) 1 and 3 only
() 1,2and 3 (d) 1,243
Q98. Consider the following statements regarding the Vedic 98. afkes wrer & day ﬁ frafafea syt w e &%
period: 1) Frafees gAT | 4@ ¥4 & iy 1fafafey & gege om
1) Rig ngic society was dominated by agricultural activity 2) iae # 24 Tl ) dSTS ol I 2l
primarily. SR R g a3 @ @ /) 3/
2) Battle of ten kings is mentioned in Rig Veda. @) aﬁ;q T;I [aadefe
Which of the statements given above is/are correct? a
(@) 1 only (b) Faat 2
(b) 2 only (c) Fhaat 1 3R 2
(c) 1 and 2 only (d) i3 78f
(d) None
) ) ) 99. WRTST IS & Ty # FA=fafad syl R faar fifs:
Q99. sCtg:leszlder the following statements regarding the Maratha 1 32 e fr LS | | .
1) Shivaji Maharaj defeated the Mughals in the Battle of 2) SrEnYr aﬂa—r_ﬁ.ﬁﬁ it § STaifdh o .;q TeT 7ol §
Salher. IR T MU et F @ i 91/d g8t &/8?
2) In Astapradhan Peshwa is the finance minister where as (a) a1
WhAElatfy?l is the prime mjniste; " , (b) FaeT 2
o ic 01(1)1 yt e statements given above is/are correct’ (<) Fae 1 aﬁ? 2
() 2 only (d) FE et
(c) 1 and 2 only
(d) None 100. 3 IS ARTE hi ears Svft & fq &, 37 el o e 5 df
rared) 3R 11 off rarsdl $&ft & st gam @, T Jie 7 deg
Q100. I"lfhese caves arg loclateddiré thf: sh}{ladri rgr(ljlge of Maharishtra IR Shefer HRR 81 ( ey ; T 16) , Rurerr & Ferg
these caves are developed during the period between 5 th century ¥o7 & U & AT R g} fg W R e ok &, R §
and 11 th century A.D, The most remarkable of the cave temples 3 i ot it ; 2
is Kailasa (Kailasanatha; cave 16), named for the mountain in ) Tt i Al W RIS
the Kailasa Range of the Himalayas where the Hindu god Shiva (a) SrSTdT 1Y }
resides, which of the following caves are described above (b) SeafiR &t [];q?l'ﬁf
(a) Ajantha caves () TeART Y :Iq,-nif
(b) Udayagiri caves (d) Gy T

(c) Ellora caves
(d) Khandagiri caves
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